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HBESAAITBIE,

Hello, everybody.

HIESA, CAITBIE,

A— RAXFAFLEHERORBESVET,

I'm Kurosaki, from errr, Tokyo Women's College.

Z— RRXFREDORKTY .

Errr, he was talking about something related to 7Y 2 I'm not sure
what it is.

Z—, WETFYHX? ISBIES BRICHEFELTWELT. [TYF
FINRIZEBRT DD EDMYER A,

BABOREDTVHFFEED
CEERLTVWAERDNS. LITFR

EFEABDIOM, 2TWSDELEEEHIE, A —RALBMNLETEE
LEWERWET,

Ahhh, he is trying to explain what T*¥7 ah, 773 means, uhmmm, so
the talk will be related to what this 7*Y7, 713 in Japanese it is .

Z—, RIFTVH, AXIDRIZEBKRT PHEHALLSIELTVE
;’%’i—, TEHLBEFEREDOTVH, A LBREAHDEBL

5 BT ALEFICESVSASICHRBATHES TV ELED,
6 No, according to what I understood, the entire talk will be errr, about  [LMNZ, FANEBEELI-ECATIE, BREREED, Z—, [TYHXTINE

how, what 7Y% means so he hasn't explained it yet. DES, FZEBKRT HMNIDONTTHIENSTELRDT, KIFELT

DIEDNTHALTHERE A,

7 EDKSICHRBET EMELELTLENTT A
8 Uhmm,according to what I h,heard, he didn't say such a thing so I don't |Z—, FAMEILVZECAIZENIE, FDESBIEFE>TLEEAD

think that he mentioned any specific method that he will um ex.explain | T, ACDIEEZ—, &, HBETIHEDHEITOVTIFERL

this. TWVEVDERWET,
9 So the theme or the topic ah of today's errr, talk errr, is errrr in the Z—, SEOT—IFELEFEYVIIE, 2—, R9)—2IZHB LI,

Z—RBRARTTR, ABHEYITRZEDE, ROEHEVEMDTIE
EXEa

screen as, errr, KRB EYIZRZ BN, that is related to why the
trees are seen as green, errrr,is the trees are green, something like
that.

Z—, TARBHEVIZRZDDF ], ChFAHHEYELTRLATLY
BOERBHEVENSTHLICEELTWETA, ZDLSBIET

0

DTV, oK Y, KLITRESTHALSLNA, ARHBLEYITRZ
BOIE, RASHEVEMDLE, [FRLITRESTT, BRITEEWET
D>TELE, MELNFERAITETT R,

Errr, he is errrr, saying like it is obvious that everybody might think
that the trees are green because the tree is green so it's obvious, so
he is uhm asking the audience like what what he is ah he going to say
like because like something obvious is gonna be talked about now.

Z—, BIE, Z— BERAREHEYTHEINOREHEYTHEHEEZ
BMBLMABNENSTERFBAREEE>TWET, TIMLENIZH
BTY, TNTHIEZ—, ChALENHES ZELERICRLA T
TVET . BERLHELN THAIRICH A SESNENLTT
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BLAEENSDIE, REBENBOTLSIETT A,

Ahh, yes. Not only the professor I think that everybody who reads that
sentence on the screen might think that it's obvious because trees
are green , and i,it's because the tree is green, so he himself and the
audience know like it's errr, common sense to know that it's green. So

it's [EEERY FRE].

H—, [T\, RELIFTEL ZORV - DX EGAEZELA TN
FAATHAEBINELABNERNES  BERLKREHEYTH
200, TLTENRADSHEYTHLERTHENOTY . T?‘ﬁ\bf&
BEZLTHBRIEREHEVRTHECLEHOTVSILEX— &
BTHAELHO>TVFET T DO NIE[FHEIMY FHE].

@

E(E, chbfllhiShd, Z—103<5WESBFELTSE, 2—,
H, KELOBLT, B0, bh, bhdEBVETIThESL,

Ah, he says he is going to be talking for about ten minutes and during
the ten minutes,err, the audience errr, will understand that the thing
that was written on the board as we thought that it's obvious is not
going to be the truth anymore.

Z—, BITKNO0NMEE T HEE>TVET . ZLTZ D105 DRI,
A—, BRIE, 2—, FIBAHLNEEBOTVNAR—FIZEANT
l‘:;f—htﬁ\ LIEOEECRENENSC LEERT 5, LE-TLE

FE, BITHAERTIIANEERTHEE>TLDATI D,

Yeah, errr, at first, he gave the theme as trees are green because the
tree is green, errr, so it was the theme and he said, like during the ten
minutes, he wil explain why it is not so. So the theme is the main topic
here so we are going to talk about that, ah he is going to talk about
that. So that is not going to be obvious anymore.

B, 2—, FF, BRERKEHEYENDKEHEYTHDHENST—

R&ERLELZ, 2—, TTHhD, ThHT—ITHY, WIL105 DM

12, ZNHEEESTROOAERATHEE>TLET, TITHLT
DT—INELZREVITHY, ThhbFhf=bIFIDIEITDNTEEL
FT, VA, HIECDIEIZOWTELET TTHD, THIEHIHS
TV ET

=

ChAHDEZMITLDE, BANIS, BEYRIER-TSHIE, HOD
BEoTHBHOTLIA, LoKYBRBELTHE>TNITED, FdhLY
VWEVMIBYETOT,

So, he,he says that so it will be something like a hint to rethink errr,
about what we have err,like thought so far about some things, errrr,
like we may have thought this thing is obvious to think like that but it is|
not so. So, according to his talk here he is going to say that uhm, we
may change the theme, ah, the way we think, after this talk.

A—, L, A—, BIENEGETHIEITDOWNT, 2—, HDHTEE
COESITEZHEFHALEERSTWBLNENCENZST
FRNENSTEEBET HEV D IIBEDITAZEE>TVET,
TS, CORATHOROESISENIE, WEThHD, Z— SO
BEOHE, MENT—R, Ho, BANEEZDINELNALE
WSTEEFELET .

BNETL=T
TLEZSWL

YAFELSEEDEKRD, §hh>TN0HZ

Errr, alright, so I didn’t know the meaning of that word 7*Y# &, but
according to what he said now, and what he is going to talk about now,
I I can err, assume that 7'Y7] % means, it is not the ummm, it is
something the hidden meaning or like we can rethink about some
things? that we have err, like known for several, errr, like a period of
time, in err wrong manner? So, 7Y ¥ could be, I'm not sure but.
according to what he is going to talk, we can say the things that we
are going to learn errr, that we were like we already had learnt in the
wrong way?

Z—EW FAEEDTTFYAF I EVSEROBEREMYEL ATLL,

LAL, SN Eof=CE, ZLTCAADRET EICENE, 2—, [F
YHXIEWSDE, BISHBSME-BHRAEN, Z—5HDHD0, £V
M, BIEMTONTEETEDLND ? A—ZhFRIEM, LKL D
= Z—5HAH—EHMH, MBS TEXTLE TN CE2TIAD, [F
YHFIE, Z— DOYERAD, Z— hhbEAETElcin
1E, BB hDLHBIEE, Z—, Fhf=bA Y TISHE->THA
TWAIEEVWRET,

9

LeOECDEBEER THEVERVET  AUSADEDARDH
EYIZRABDFAMNHEYENLIZEB>TET &,

So, he is going to talk about err, an issue,err, about how people have
understood and that understanding is not the right thing? Err, and, like
he is asking the audience, err, whether they also have thought that
trees are green because it is green so he is asking, uh, giving them a
question.

Z—, BUIINRZHEBRLTEIEMNELLTETRAZVENSRIREIS
DWTEZELEY . 2—, ZLT, WIWRISHLTRIEHEYZAD
RIEAEYTHDELEZTNAEIANERMNNFTTNET, TTH
LWIEMULMNTTING, DFEYMLICEMELTNET .

)
=)

BoTET LR HDOANAHEYITRZ DD, KAFRELLEHNS
JgkUl RASE FHER HOENTHELTT, ThAfYREIE

Err, he, he err he's like um, he's reassuring err with the audience that
like, even the audience might have think, er, like thought that trees are
not green? Err, trees are not yellow? So, it is green, something like
that.

Z—, flE, A—WEHEALEWNSH, Z—, BRICH
RIFHEYTRAWN, Z—, KFEBTREEWN? EALHEYTHS,
ZTDES%GTEE, T

FEHEFOTLSDEFEEE - J:?l' éT—Uﬁu&uatL\élté
FOTHBITNISIBILETT [HE

So, here he says 7'/ & means, err, like we have, we might have
thought of something in a way but it is not the exact way that we have
already known, so 7Y/ ¥ now I can say that 7'/ & means err,
what we have known so far is not the exact or exact er, or correct
thing that we have learnt, that could be something else, some meaning
or some use err, into that word, mmm, known thing.

Z—RIE, TTYAFIOBKRIZOWNT, 2—FhfbEHDHEITDNT
HIRMTEATVEDNELABNTNED, ENIFFAHA
TWCEITDWTDERBRM=TRENEE>TVET ., TTD
T, IT7YAF, TYAFIDBHREVNSOIE, Ff=bHATNETH>T
Wil PATERIEFERFIFELVLETIIAL, BITER
DALELNGLY, HoTWCELESER, EELM T, EE 5
LWSBRIEEERFT .




Z—&, 1EZIETTR, BAHO, Z—FHE525, LVBLBEA
L0012 H, HOAOFDTELH TR, H, 5, HOBRIZ
g;;%_ﬁ\uo'ct?h HN, REZNTHAEBREMSIZ1To1
L

So, he is er, thinking for a bit and he is giving an example. So during
corona, he might have thought about err, having some greenary err, so
he is err,taking his pet and going to a place where there is full of
green? Greenary? Like, maybe a park? [ assume it is a park. Because
parks have so many plants there.

Z—, WEDPLEATHEHLELS. Z— 20FBISBLT, KIT
HEYDRHBECHIZ, WORINEBNT, HEYDIKEAHD? H
EY@hig? EC ?’I%T_L\&,\.\af:b‘ébhiﬁ'/\/o I—h, ZRA
AE? ABEEEBSATT A, 2EICTHEMAI{EAHZDT,

23 ABEEVSDF, KEMNFELEZBREOBTHNHERLELLD, The
HIARA DHEBILELI=AN
24 Ah, yeahiit's actually, err, the sound, normally, a park is 22, but he |H—, [£LY, ElZZ—, BHDTY . @, 2BIITABEITT, THH
used some word using, I— 21 can't remember the word so 1 think  [I&M3—2 &Ly %&ﬁuzu_e EENBILELEEREA
that it's something related to a park or some place like that. So, it, it |A% TTNDOZDEEXLENTDLSIHATICRIEL-ZIThHIZE
was the sound which came to my mind that, in, so I thought that it BUOFET, 'C?'?ﬁ‘b Zh, TNEEHDEIBo-DTTH, D
might be some place related to a park? EP. Z—, DNEICEETRZECH DN GERNELT=,
25| bk ELMEDIRITHELTET HE, — i, HDFMITo="&IZHD  [So, he says that he went to err, that particular place with his er, dog  |Z—, IFELVELT=c A—HABAFICKRETEFELI=E, 212, £ TIE

T

but he is err, making sure that in the picture, it's a woman, but he says
he went to err, the place with err, a dog, err, with his pet, so he may be
like err, giving the audience the idea that he might, uh, he, he may not
have found a proper picture but he is reassuring that it is me who went|
to that particular place with my pet.

ZOANTEN, WIEZ—, WHRE, Z—RYLEFToREVNSTLEER
BLTVWET 284, 2—, THIEH, RISENLEEEEZR D4

Aotz blhBNThED, CORMMBHHBMIRYEITo1=D7
EBHERL, TIVSERERTENSIETT,

1)
>

Z3F5LTT R, LSWEOEREELE-ST, Hh—BRIFE-THH

Err, he is thinking and he said, err that I—47>/, | heard the word as

A—, WEEZTVET, ZLTEWELI 2 —Ta—4#>, a—4FY)

NT, H—ADBHEYTOWESD, BRELEHE, 5, BSDIFTT  [3—4 U erris full of greenary and it is a calm place, err. EVVSSSICHCA-DTTN, 2—, &, #EUNENT, FLDOUf=
&o BT, A—.
27 AETEAENT2ENSITETT D
28 Ah, yeah, the, the word I know for park is 22, but here it's I—4">, I|&—, LY, 2B ELTIAE>TULV=BEEIXIAE]), TEIITIK
think something, uh, place, with greenary, is there but I'm not sure that,|l2—4"> ] TF, ChIFRITH, ECHHEYENRIGIREEBSDT
that it is the exact same word for park. I, RELFSIKRILERLEDNEENTREBHYFEE Ao
29| ZNTIDREICLNS, iﬁf?‘ﬁ‘&hj‘l 28 HRF, BR-OT, HD |Errm, he is talking about how errhis pet reacted when he said errithat |2 —, (&, NYMEDLSITRELI=MNITDNVTELTWET , 2 —

VWS, KAS, #EYT, HHT
RFIFTTHR, T— T—

& BADZD
EMESATT &

the I—%4"Y is uh, full of greenary errr, it is a place, like amazing errr,
amazing place err, f &= means err,superb like err, err. so, but, when he | S
said that, his dog starts to, not bark like, he is giving, uh, it is giving a
weird noi,noise at him?

A7V IBHEVENTHS, 2— FBELLWEATHS, &
g ETTT 2—, [RBIELVIDIERBOLLEVNSRIKT,
Z—, TIHD, T, MHZThEESf-LE, RERZDDIFTIEA
WTTIHE, ERBFERICIHTTRELE?

f\—

30 FEFBARFBETREETLELED,
31 No, he didn't use the exact word as X, but he said 7RF, so I think R [L\Z, TRIEVSEEZZDFEE/E I FTEHYFE A, TH,
F is something related to pet, mainly for dogs. [RFIEEVELI, TS, [RFIEVSDIERYE, EICRICEE
THLOFEEBNET,
32 RFEVSEEZERICELCEABYELIA .
33 Yes, I have heard, but I can’t remember the context where I heard, but [[ELY, BLV=CEMNHYET . EALIRTHVNE=NEBOHEEE

1 somehow know that 7RF is something related to a pet.

A, T, BEEMNRF IFRYMBEET 2EDEEHM>TVET,




34[T, 2, HBATOTEIE, EFHALKZDOREAFMNLOANSEMES [Err, there is no particular way that humans and animals can talk err, at |2 —, ARIEEIMIAGEE B &SR AENSIRE,
MEOOYERAD, Lo ANfzETBETTR, HORFILTTA, |real time, e, like in reality but err when this professor said that the  |IZ®dDIT TIRAWTT A, Z—, BEAKFHEYF f=&
Z2, KEHEYLeRLY, T—, REL, ENESATT & trees are green, the pet, the dog umm, is replying that no, it's not Ryb, RIEFZ—, 5—A, HEYLLUTRES J:&)E$’.«EL§LT_0

green, it is brown.

35(1FH 2 EMDT, Z—, LI EITHRYFETFELTT 43, Err, he is giving an onomatopoeia in Japanese like (£ ?, is like Z—, RIEBAREBOF /IEREFENEL =, [[EH ? IELVSDITEEL

confused? And questioning again? To what the pet that he was talking |LTLV% ? #FLTHEI—ERBZRITNFT TS 2 HAZEL T, 4
to? ATLES, RubIZHLT?

36 FEFBICISRELL TV -ARLERWETH,

37 Err, because the pet was giving the answer as trees are brown, so he [Z—, RYMIKEFREREEVSIREZLE-DOT, HIFELALT, 5—

might hmm, be thinking why it is brown. b, B ACRBBAE DS EEZ LN EE Ay

38[HD, TLHD, WAALYBIRBLTET (TEH, Z—, F=EXIE% [He is using a word er, as > F—, I really don't know what it is, and he [ (£Z—, [PV R—1ELVSE §§EL\§LT_Q ZTNNESNSERLL
AMISREILTTI 43, SIIEFEo=IREIL TRLMES, is drawing, he drew a picture on the board and since I don't know the |DAERHBITHhAYERBAN, Z—, BIFHR—RIEERTLELE,

meaning of &>F—, I really can't understand the picture also, err, and |#EELT =, LTI UF—IDERIHHHASLELD T, KH(Z

he after drawing the picture, he says he want, he err, he, EF2>1={hh [{ELEBBTELRVATI A, 2—, BITEEHHE, HESVEL

5750 means 1, I don't know, I don’t know it at all. Tz, Z—, [Fofhh bR, EWSDIF, 2RDIMLENENSE
%®TY,

39 CoMLIHAMNMREILIELHTTI 42, 220, 17#RIIT20ECSLME  [He drew a, a line and wrote twenty, and he said #kE) ? The, he used [fR(E#R, ZL C20LEEEL=. Z—, [REIIES =D TLEID . T

B} dE ChAMEETI—EN T, the word #RE}) again, err, I think that #kE) means vibration? Because |41, 2 —, MRBIEVSIEFEEZLSI—EMELVELz, 2—, MRS IR
he drew something like that. And I think it is something related to BOEKREEBVET, BENEWSEMITFD LI EE =D
vibration, err, and, he said that when it, err, when this #&8) occurs, the [5TY , ZNIFIRENBIET HEDFZERNVET . 2— TLTRKITE
line err, in, twenty, number twenty is happening, like something WELTz. Fh, Z—, CONRBIEVSDMRBIDHESE, 2 2 —20&
happens to that line. I'm sorry [5£5] 1 don't know the word so I can't |L\SEFEMNELD, BALEWINZDIRITAICHIIEIS, CHAKBS
really express what it is but it's something related to vibration? When it[L\[%3], EEADOADENDT, ChHBABONALITRETE
vibrates, something happens. HODTTH, IRENEET B3 (h ? IRBDHoT=EF, ZIThHH

BIYET,

40| RIZH20% DA, HLEBRITE 0K Z TS,

41 No, I, I don't have any idea so. VWOZ, ZITHEIEELDT,

42| T, &, HO, INBELLTHETTR, Z—, TIT, HD, NHKOEF [Now I understand what it is related to, it is related to sound so he A—SICICBEL TV A hhYELT, ZHIEFICEELTLE
], RuRvRyR—ENNSDIE, wrote Hz so it is also related to sound and vibration? Err, so he is T TIhOMWIEH2EBEFE LT, TIHD, BLIRBICEELTLY

going to talk about something heard, he saw in the in NHK channel. 27?2 Z—, BIENHKDF v )L THEIL, RECEICDNTELE
¥

43[440~ )L, B, TN T AR L\27, 2AANIILYSHLVET  |He says that for humans the, mmm, sounds that a human can generate [fI&E>TWVET, ARIIZEST, 20, 2—, AR, 5—A, 2B~
FEELTHCZDED, EHIOHLY , EhhET, ZTEAM [and hear err, is up to twenty thousand Hertz, so it starts from twenty |JL'YETERLEKIENTES, &, 2—, 20N LYDSELFEST, 2
[FHFELTHK T, 3592 LDIFSIC Hertz to twenty thousand. So it is the, between err, the r, range gap, [ANILYETTY , TTHD, 20N )LYNB2EAN LY DFEEDETT

from twenty Hertz to twenty thousand Hertz. So, in between, he has | 3", Z DRI IL440EBEFE LAY, 4401 DWVTHEARITES o=
written four hundred and forty but I coundn't err, hear what he said DMFEERNFERATLE=,
about four hundred and forty.
44 LI—EMEFETH, —BLD2HDECHERALLEE>TWELE

No




45 Err, for humans, the sounds that they can hear or like um, the range [ ARIICES>THZFIMNAE, LLVINZ—ARL, S—AARBD, BAL
which err, a huma, uh, human can, I don't know how to say that, err WEFELDDOMERAD, Z—ABHECZ S OHE, Thh'
human can hear the sound, I think it's related to Hertz so err, humans [~NJLYICEIRLTLVBERWNET, TIHS, 2—, ARIF20~NLYFE
can hear sounds up to twenty Hertz, so that is the maximum point, err, | THIT5, EhSEFNA LR TT, 255,
twenty thousand.

46|fTEFTETT R, HD, SHERBIH>T, ShhT=EZXIETTFE, [Um, he, again gave two digits, errr, three thousand seven hundred Z—, BIEFELICT2ODHFEZETELL =, 37004 T AhO—LE

37004 J AA—LMb, 12X E87004 T ARA—LEM, ZIF
B, BADBELTECS, BELATT R,

angstrom and eight thousand seven hundred angstrom, err, so he says
that it is the range where we can see colors so it is related to colors
here.

870042 RFA—LTY , z—, ZLTCMAFEEMNBERSIL
MTELFEETHAIEWEE>TVET . OFY, CSTOEIFERICH
EARBYET .

47

T A—& 20, % O, C & KBHEYESTESE,
D—, &5, KRREES>TRFFKRZEHIFTY, T, 20

So he, err, goes back to the board and he shows a picture and he says
err, the dog says, err, his pet err, says that trees are not green but it's,
it is emm, grey, [Rf& means grey.

Z— BEIAR—FIZR->TIHREREEL. ZLTRIE, 2—, R(IE,
Z—, WORYMNEIKEHEYL LT, Z—, 5—A, REBFEZESL
FEL = TREBIEVSDIZREDEKRTT .

ARIXECE, BELTHATHATTIHE, 530,

The humans err, she, he used the word called &Y I'm not sure
about what it is,err, so he is reexplaining that for the colors, which err,
human can see, is the range between seven thousand, uh,three
thousand seven hundred to eight thousand seven hundred angstrom.

AR, Z—, WETSFAY IEWVSEREEFFUOELE, ThD AL
DHIOMYFER AN Z—ZLTRIFZNIOVDTEUHRBALEL .
AEMRZZEIZDONT, FAIX7000, LVZ, 370044 AhA—LH
5870045 AA—LDETY

RIFTIR, 20—, SEAELTTTR, &, COSHLLMRZA
LisLLY

So he is err, explaining about animal, err, dogs, so the dogs, err,
according to what he said, the dog doesn't have a, a good er, like err, a
big range, like humans do. So he has drawn a line between three
thousand seven hundred to eight thousand seven hundred which is in
between so half of the range which the humans have.

Z—. W&, Z2—, B, 2—, RITOWVWTHBALELz. 2—, KIE,
Z—, BOESETAHIZENIE, RIZABDESITLDLY, Z—HAENS
MNEWEEABHYFER A, TTHLHRIEIHRESIEFELT-, 3700£8700
gﬁﬁ(:c ZORIMIZHYFET M, AL FOTLIEEDFEST

EEDLI TS, REXFFHEESTTITNED, HOMETIALS
EEXOT, HOFVWENTHD, HNISFHNRES DA
& ESBFITIRBAZADIZ,

So he is referring to a cow in bull fights like, they use a piece of

T | clothing, err, a red clothing, err,but err, according to what the sensei,

uh, the professor says, err, he says err, but the cow see is, uh,it as um,
IR, K&, means grey, not, err, red. Humans see it as red because they
are using a red cloth, but the cow itself doesn't see it as red.

Z—, WERMFOHICERLELS, Z— HYNEREST, Z—FLY
WINTIA, K&, W, BENESLCHITENE, FI1E, Z—FK
TRECTR, REIELT, ZARREBOBKRTTA, ELTRATLS
EEDTVET  ARIEFHRNAZFE>TLNIMNLFELTRTNET
M, FIFFELTRERTLELE,

KR TESIRBICRATT, ATHBLTVADFAMLLVATT
[FED, 2TNSASIT, E54:85, RAATANES, bLve

So he, he is explaning that it seems that err, the colors which humans
and animals sees are different.

Z— B, BEAREBMARTNSBILEBSLSFEEFHALTVET .

52

EOEFESLTHDFEELIZATLEID,

53

Um, I think that umm, so, we are talking about colors now, and he is
referring to animals related to a color that we see, and we see it as red
but actually, the animal itself doesn't see it as red so, maybe he is
referring to something different here, the, the different from animals
and humans. Like, like an example so he is giving.

S—A, MBS, Z—, 4, BOFEELTVT, KRIZFEEHRD
BISEELTHMICERLTWT BFbREIFELTRBIThELR
FBMBEEFELTERTNVEVDT, F=RARKIFSCTHRISHE
S2E BMEARDEVDISERLTLEDTIE, HlELTHEIFTLY

WSZERFDMHOTHATT R, Z—bRHATTTR, ZIFBALL
HOTET M,

So, he is asking the audience err,about the top err, top point of that
line about eight thousand seven hundred angstrom. So he drew err,
circle and asking err, like whether the students or the audience know
what it is.

Z—, WIFERICRO—F LD, 2—, 87004 > A+O—L O E#T
[2OWTBRTVNET  A—RISZEEFERICZADBALON
EHOTWIAERREND, AEBEEL],

ZO—&, RZBZOND—FLE->TIIKIC, MBLEMDAYET ?

He is asking err the audience again err, about the maximum point of
err, vision err, is err in which color or what color it is?

WEFER, Z— BERICHEELF. 2—, BEOERFIELSDE,
ELSIVEITBBEDMZDNT,

Z2&ETY R, CSRTTR, BATEIADTSE, UV,

He, he is err, giving the aswer for his own question so he is err,
thinking a little bit and giving the answer by himself, as UV.

®IE, 2— BRBEEHNLEEMICHLTERAEZEATVES . 2— ]
[F, A—PLEAT, WEWNSEZEBASESTRLELS,




57UV TLSDIEIN, DILES/8AF Lk, /N (FLIMERL TS,  [So he again explain what is, err, what this UV is. UV stands for A—RIFFE-COUABARDOAEHBALTNET UVELSDIEY
ultraviolet and violet, he says that, violet, it's err, maximum. IVRSINAA L IR DBET, /3MFLYEVNSDIE, NAA Ly ER
FERIFEVVELL,
58 FENFEEICHFTNESIRAFv—[FESLSEHRIDHYET
Mo
59 So that g, gesture in Japanese or maybe in other languages still, err, [Z—, COERYITBARIET, BEoMtEETH>TH 2— ARIE
people use that err, raising hand is to denote or show it's maximum, HEWFET, 2— ARFEHITFEEVNSITEIZ LR, —BEDLALE
the highest level. EWVSTEETT, ELSHRLTVET .
60 REEEVSDE, REDBXRETHAOMN, EThEHDTR
Fr—ThhYELED,
61 Err, I understood from the board, he used the word as well as the hand [ X —, IRETHMYELTz FELITHIFHEVNSFIRY LEHITHIE
signal that he raises his hand so I understood that he's talking about | SEZELVEL =, TTALFIERITH ERICOVNTELTLSDTE
something maximum. EEELFELT,
62 FEMNFELI-BAED, AIICEN-CENHo-ATT A,
63 Um, I, 'm not pretty sure about that but according to the context here [3—As, #3EWNZ2DHMYFEBAN, Fat=HA, LW, BHBDE
that we are talking and he is talking, he was talking about the maximum | 5 1 & ESMRIC DN TEEL TLDEWSZOE S D ARICENIE, 5§
point of colors and he talk about ultra violet, and he used his hand too, | [EFIRYEM>TLVELI=L, TT MDD, CCOXARTIE, HLLVEE
so I think that err, here, in the context I understood err, as a new word &, ZI<h ERRICRERL TS EIBRELELT=,
err, that, that word refers to something maximum.
64| SR TY R, CCEMEOTIERFFEAFIFYTRATADIE, T [Em, he used a word called > A/ t2, I don't know what it is, err but, | 2 —, HIZT U A/t IEWVSEREFHUVELE, ZhhEITHED BABOREDS U H 2 TEN
o, &, —BHAMVREMNCH, £, he also said that err, the point which we can see at its maximum is err | WY ERBAD, Z—, LHL, HIETS5HE>TUWVELE, 2—, Fafzb BROTEERLTLWVSERDNS,
at the level of eight thousand seven hundred err, which he has drawn |MNR2ZENDTED LRIE, Z—, 8700, ZNIXFEIREEZ VLIS
the line and he also err, is writing a word %8, %& means purple which is [T, MEIEVWSEELEBVTOET TR IEVSDIFRDER T/ (F
related to violet here, he said that err, UV is the maximum. Err. LyMMZBRL TV ET  BIFUVEWNSIDF LR THHEE 2TV,
A"
65 UVIEESLSEBRMN > TOET A
66 Yeah, it's a ray, ultraviolet rays. F, ZREERBRTT . VILESNAFLIREVNSRBRTT .
67| —F T, Lolhld, CSRBAEADAYET A, He's asking the audience the least or the lowest err, point err, which [ [XEERICERITEISAER =R/, ELVSA, —FEL A, 3700
he has drawn a circle near the line, three thousand seven hundred A—LZAOA—AIZDWTHWTULET, KIFFERICSh D EISHE
angstrom. He is asking whether the audience know what it is. FLTWET,
68( CTAVEIMRIZAT D, ToblE, FIMR IRTT £1a, He is giving a comparison between, I'm not pretty sure about the word | IZLLEEL TLVET  FAAMEOTLNS, ThALESIEEICOLTH BAZEDREOIA1EUITER
which I'm using, going to use like, he uses &>, YU HA+t2, and ¥ | EYHE WDTIMN, WIS, o4 18T h14t SR, DB EFMRDIE
B4+, 1, I'm not sure about that but here the least point is IR.err, METEEAD, COTIEHME ZIELTWSERDND,
uhhe, he, he says the least point is IR. IR, Z—, &%, WITHNERT RIFIRTHIEE>TLET,
69 SODEENDALENENSITETLEA, EABDLDM, 7Ly

BigTEETH,




70 Alright, so here the context is, the context that we are talking is about |[£LY, Z—, ST THOXARIE, ShhBFAF=EMET XAREVLSDIL,
vision so according um, for the human eye, the, for the human eye, err, [{HEIZDNTT, 2—, BKESAICENIE, Z— ARBDEIZ, ABOD
there's err, the maximum and least point that we can see so, it it's the |BICIZRAZENTESRARER/NANDHY, ChIZBETT, T,
vision so the vision err, related to UV, it comes as rays like, and here, [fRE(XUVICEIRLTLT, MELTHINTT, ZLTIITIE,
in IR means infrared that is ultraviolet err, mm, so, this is something  [IRELVSDIEALTSLYE, ZNIEIILETNAFLYRTTH, Z—,
related to color and human vision. S—h, BITHEPCABOBRRICEFELTLSERVET,

N|z—&, CTHFEATT R, —HBIRBAELD, Um, she, he again used the word 3*>F—, err, so, he said that the S—h, FEIDUF—1EWSEEEEVELE 2— #, LA, AR

lowest point err, the, or the lowest color, no, lowest point, that he, that
a human can see is red.

MRLIENTESGRNR, 2—, —BELE, VX, ELR, LSO
FFEZEEVELE,

ZDOHFIR, 12 TFL VR,

He is giving the, err, word, which stands for IR which is infrared.

WIEATSLURELS, IREBBESh D ERERTLEL .

Z—, LYFOTF, 12755 TFo>TEKRTI b1 IFLYR, Ch
[ETILES, BRTHOTNISETT R, NAFLubEBR TOMD
uv, Zo5 IR,

Err, so he is err, explaining further about infrared and err, UV. So he
says that R stands for red and I stands for infra, so infra in English
means below the, or the least and UV is err, ultraviolet. Violet means a
color which is related to, like the the violet color, and ultra means err
about or its maximum.

Z—, WEAVTSLYFEZ—, UVISDWTESITHBAELTLET,
A—REREFH, IEHBTETEARDEVIBERDALTSTHD,
ZLTUVIdultra violet THAHEEWNELT=, /M A LYLEVSDIZED
CET, THNEBICBRLTNT, YIAFELSDIEIFEFFZRRENS
MEREVWSERTT

EARFRBUVHLBELTIFRALTT £,

So he says that err, /2 means us, ourselves, err, can't see UV and
IR as a color.

Z—RIEFI=D, EEBEHEVSEROIERIEVSEFEESL,
TH R JFUVEIREBLELTRABIENTELNEE>TLET .

205, HD—, §BIFUVIERA4TT EMEN>TLSDERMT,
HEBIRUWHABVAE>ThASIHE, BEERFRAAL,

So he is explaining further about the UV and IR err, words, so he says
that err, we can't directly see UV. If we hear that today’s UV ray or
the UV, mmm, the UV radiation is like at four, we we then only we
understand that alright okay that today’s UV rays are at four but we
can't directly see the UV rays or the color as it is.

Z—RIFUVEIREVSEEICOVNTILICHAZELTVET . KITUV
ERLIEEERICENTELNES >TLVET . LS HOUVA
2, LUV, S—AUVBET A TH D ERLV-5, H—5 HDUVER
[FALEST- AR L BRTEETH, UVRRELFBEZOFFERETL
FBIERAIENTEEE AL

STWS&ESIT, ES53RITTR, COHLMNEICRATVSLOIE, 1=
EZFRAUCTHFVRZILCT, ZORLARZAZVAT,

So he is referring back to the dog, so err, what we see as red and
purple so the dog doesn't see it as it is.

A—REEELS—ERDFEICRY, X— AEEAFLKICRZEED1E
REZDLSITFRENENSFEELTLET,

AOB, XERLHETT R, RBIZRZ .

So he says err, when they, when err, when the dog see the tree, they
see it as grey.

;—?&Ii?&%, Z—RHKERDEE, REBELTRTVAEE T

T539REERE, H—, CORO>THDVESILR, KBEREHE
YLDQITRBIZLARZBWVATRST,

So at that point, people or the humans feel sympathize the dog err,
thinking that err, oh, like, feeling sorry for the dog that err, it can't see
the green tree as green but it sees the tree as grey so people or
humans sympathize the dog.

A—EDEE, AREVIDARIERICAELES . ALEYDRAHE
YITRAY, REELTRTVRDEADLNEST, EBVNVELS, T
ITHH, AREVSHARIEKICRABELET .

79 BHRBEESTWATIA, BRTRELRADN D, £E
DINT—RAVMEETRINATT D
80| Yeah, like er, it was the second time which I heard the word at that I, HOEE, N TDOEEEZMUV-DIF2E B TLz, 2—, 1E
point, er, the first time I, I, I can’t remember I said it as brown, but the | B, Ff &L\ o1=Ze%E DTz, Hfz, FATEZ TLELEAN, 2@ E(E,
second time I, err, it came to my mind [Rf& means not brown, err, X (Z—, [IREINFKBTIELS KB, K, ZTABIELZENSTEARL
£& means er, grey or ash, something like that. So at the second point [iZFMNUELIz, TTMD2EBDEEET, 5—A, TIREIEVSIEEIX
only, I, mmm, understood or realised that the word [Rf& is not brown. |HBTIEHENEWNSITEEZEBBLI-ELID, [MNDEELE=,
B FEHTEBIDITTT &, He is telling that he, err, like normally people err, tend to think like that. | IZ S >TLET, 2 —, WITEE, ELSIHALEEFDLIIZEZD

ERHHS, &o




82| T, HBIFEL, 723[FE in Japanese means oh that is exactly, oh, oh that is some, uh,| B ARZETI B AIEE |FFSITESE, &b, FRIFRICH, HoEFh
that is it. 12, EWSEKRTT,
83| TETHENS, HHBAT, BRI, H—hAbLVE5>T, CORFIT |Like people think that it is er, like err, referring back to the picture and [ —AR[FEZET Z—, RICENE-T, WEHEAHEYELL
[FIRBISLARZEVDDOD, H#EYTHATLLDIZEHE, his talk about he is going to er, place where, full of greeneries, err, BAFIATCEV IS EZRELTVET . R—ARIEADEE, KEHEY
people think that the trees, err, referring to the trees, it is green, but 3 ZL TSI TTA, ARIELDERYMMIFEELT
people always sympathize err, about pets, especially this 7RF means FIHICSDIRT ], EVSDEERDIETTIHNED, RIFHE
the dog err, dogs see the color green as grey. YEMNKRBIZRZDEVITEICRBLTLVET .
84 RABHEYLSZ, KITDWTHICAE>TLELE=A,
85 Yeah he was err, talking about err, calm, err, like calm and quiet and Iil'\ WIEZ—, FHOED, Z—, FHDLED, #D, EHAEY
greenery. , A, BELTLEY,
86|ECAATT ., RFIETT R, BANBRIFSZSNEM, EVEL [Err, by the way, for the dogs, dogs thinks that, err, think that A—7> [X—&CAT, RI2ELT, RETI—FU1E53530EHE, BoTLY
HBATT &, is noisy. o
87(Z >, BHEDITOTESE, So he is err, giving uh, confused face and says err, it is calm but why |X —HIXF R BEZEL T, CCEELDOLTLSDITESLTRIES
the err, dogs think it is noisy. HENVEBIDEBSEEH>TVET,
88| RES>TSHFHTI Mo HOD, SOIVSBANENBHOTTI 4, AR [Uh, he is asking the audience, err, whether they know about a whistle %, HITEERICRELTVET , 2—, AKR—FICELV-EEH>TLY
ISIFRICZBNFEREZFISEZZZ2TWSZSVSEMAELLT  |he has drawn it on the board, err, people can't hear the whistle but |24, &o ARIFEABCAEEAL, BMEFRCZET .
o animals do.
89[TChEIITHCE, ARIFBAIZHBCZALFE, RIZIZF+v>  |Err, when I blow the whistle here, people don't err, realise it at all. But (X —, HLFEAACSTHERIVED, ARIEX—, FofGADEFE
FroFroxvUMCzb, err, when err, when I blow the whistle here, if there’s a dog or an Ao TH, Z—, CCTHER=ELT, ROVZISHEA LS, KK
animal, they will start barking. Z129TL&D,
90[T, COBRTHE>TTI 4, FELNBADMNREZIR>TTT  [Err, by mistake or by chance, if err, child err, finds this whistle and A—, BoT, FLEIFLFE L, 2— FELATOHEER DT
f, ChTE—E—E—E—>TlET 5, starts blowing it err, in 23—/, 1, I still don't know the meaning of T, [2—4%2 ) TRET: , Z—, Fh, FAEEL—SV 1 0B
O—%4°> but it maybe like something like a park or maybe ehh, so if by | BHOMNBLBLDTET M, TH, FNIXEEFLKL2BEDE5GED M=
chance, or by mistake, if a child finds this whistle and blows it, b, Z—FNTlERE, FE8-T HLFELNEERDITT, |
WTH=B
91| Z53F 5L, FhlE, BRITAEYTHNEATTIHE, TUEHAIZES [For me, err, according to this professor, 3—%"2 is a place where it is [FAIZESTIE, Z—C DRI J:nli rZI—’T/J(itT{;%B?L‘f
TlE, BSRIFPHELLTRBLBATT &Ko very calm and quiet and full of greenery, but for animals especially WTEHHNTHEYBHEIGAT TLEY, HFICCSTIERTTA,
here, for dogs, it is a place where it is very, he used the word called 2 [[2&2TIE, &TH, HAMEST- lir‘bﬁ\ibch A 'l-bf)"’)i
MELLT, I really don't know but maybe it is something like related to | A, ZXITHE, 5H5SNENSTEICEFRLTLSNELNER A
the noise, noisy. and, noisy and grey, grey place. ZLT, 55T, K, REDIBATY .
92 OANFELVNEVNSEENDABENENSITEESTATT A, 5530
LHAL TN D, FIROXARNDTLESD, ThELFREND
HAL T ZATLES D,
93 Err, yeah, I didn’t know the meaning of what M &ELLY but what we [z —, (LY, FAXTOAELLIDBEREMYERL A TLIA, SETH

were talking so far, a little while ago, he said that err, when we blow
the whistle err, only the animals can hear it, but the people can't,
humans can't hear it. So I thought that oA\ &ELL) is something
related to the previous talk, that he was mentioning about the sound,
err which the animals only can hear. Err, so I assume it as noisy.

TBMEELIZCE, PLRTTT A, IR —, FA-BAEERIVEE,
Z—, BYEIATNEMEMAILN TE, AR FHEMhELA,
)\F‘iliﬁﬁé’ﬂihf&t\t WELT, TTHBIOAELL IEVS DI

BB ABMERNSEIT OV TEL TV RIDELBE RN HDHE
BUOELz, 2—, TTHD, 335NEVSTELDALEHERLEL
1=




EoBNRLDERERTEHOTNSIEITHSTLEID.

He is err, wondering whether, err, which of us here maybe err,
according to what I think, is, related err, referring to humans and
animals, err, so which of us are seeing the real world?

WEZ—, CCTRIBEOELLBDAEEZEZTNT, FADEXIZEIN
1, NEEBYICEEL, ERLTVT, 2—, Fib0ELLHEY
DEFRERTNZDONEEZTVET .

ChHDE-THFENFELLITE, COAIREHHFE L AMIZEOTR
ZBHEAEAIZDOCHNT, THHIFRMREEIMR, CobEWMESTT

o

So he is referring to a chart, err a diagram, on the screen, so he again
used the word ¥ 12>, and the other, I couldn't err, err, take in,
err, listen to it, err properly, so he is err, talking about the range that

we can see.

Z—RERIY—2DER, BIZERL, BUTEFH A2 &L
FEMVELI, TLUTHI—AT, FhlE, A—, EHALEETEY,
Z—, BERIAI AT, Z— RiE, Z—FbMNRBE
MTEHHEAIOVTELTVET,

96(ECAHNHD, SYNFENNIDIE, ESEZ—LEINMRIZoF=DE,  [So, he's errr, asking by the way, err, he used a word V/\F, I, L heard [{REBALTLVET, ECAT, 2—, [SYNFIENIEEEFHE-T,
it like S/3F, I don't know the meaning of that, er, so he asked the  [%h, ﬂ\l [EMEYNFIEWSKSISHCRZATY A, ZOEKIEHA
audience whether that particular word is err, that particular word fits  [UF# —RIEERICZOEENZ—ECITHTEFELDONERM
to which place? Yeah, which place on the diagram, yeah. L‘TL‘%T ROETIZHTIFFEZDONTT, [ELY,
97[MRZB5LLT, HOBENSIBENTET &1a, FNTH AIZEST|Er, this part was really difficult for me, but he is talking about flowers, |2 —C D EFTIZFAICESTETHHLLTT A, 78, Z—TIYNFJIC

BHALGLBICLMARZLVDIZ, TobBANRLTSE, L, %4+
BOVEADHTELWVATYT &3,

err, SY/\F, err, like, err, he, he, he is talking about two flowers and
comparing them? And he, he uses two hands to like show that they're
flowers. Two flowers, and he talks about one flower err, and the maybe
I assume it as when we zoom it, it moves, the flower might be moving
or like, giving a vibration or like movement?

DWTELTWT, BAEWSH, B, B, WIT2HDIEISDNTIELT
WT, LEBELTVSDTLEIN. ELT, 1, HMIEAHFTEORE
O TREFELI A—ELTHEELMIEATHE, ThFBIDHENS
», RET D, BKOAIGEHRLET .

39 BETNER A TISSYNFHEANEEOBICU>E1T<A
T &L KRITEDTRBALLE, BABLIZLARZTELDOM,
7:&%[1’557%?7‘)‘%716&“5, FOMEDNRZDELDE, BIDRIZR
ZTA,

Ok err, now I know the word err, for 2Y/\F meaning, 3*Y/\F maybe
a bee? Talking about a bee? Err, so, he was referring to two flowers so
we can't see flowers giving a movement to our naked eye but err, for
insects maybe for like bees, they go to the flower, which is like moving
or giving a movement.

FW, 2—, FTIYNFIEVSEEOBHRADAYELSZ, SYNF)
FEZLNFOEHRTLEID NFOFEELTLDDTLLIMN,
Z—RIF2HDIEICERLTVT, BIEDOBRTEIBLFRAFE
AB, BIZIE, $E5< BIZIENFIE, BATWD, BLTLRIED
LEIBHITTEET,

99 ABICEZEOBHEFRALGNENSITETLEIA .
100 Yeah, he, err, he makes it sure that people like humans can't see the (LY, AR, ELVSHARIZIEDEN, NFAEENERDIENTE
movement err, in flowers like the err, like the slight movement err, so |, IC&hlE, TRTOERRLLIICRZDTNES, ByipPRIC
we see in, uh, we see all the flowers here, according to him, all the EBTHGEILSICRATNT, EDFADOTHEELLRDIE
flowers the same but for animals or insects it may be different, so they | "W T&%, LWV EERWITHERLTLET,
can see the tiniest bit of the change in the flower.
101 SYNFITONT, BRAOMLEN OIS, BEBIZEDM 27D
BETTH,
102 Err, I have heard the word before, but err, here, err, the first time he  [Z—, BIICES XLV =CEIEHYELID, Z—, RMBEHNZOEE
used err,the word was with the diagram on the screen so there, I, I ZfEofzEE, BEERY) -V ORE— IS8, FAFEA
didn't think that it, he was talking about a bee but when he came with (#MDEEF#L TWSEIFBERATLRA, EEDFIZDNTEELIAD
the example of flowers, then only I understood, ah ok, he's going to, fEE, H—IEW, BIEIhHD, BIESOBDFEET LD LEEL
err, he is talking about this bee. So I had heard it, and I knew that word [FL 1=, TS, FAXThEMULV-CEMNBHYFELFL, EELM-T
but err, when he referred it to the chart on the screen, I didn't think  [WVELT=AY, RV)—VDBRICERLIzEE, D EIH>TLVDESITZD
that he was talking about the exact thing that I knew. So with the CEHEFELTLALIER L‘it"/u'( . TIHD, EDFITH—F
flower example, I thought that ok, that, that is the word which I knew |\, Ch(TFAA T TIZHI->TLNDE %Tﬁﬁ&%b\ibfzo
already.
103 CohIYNFENSBEREL>TH-TLENSIETLES D,
104 Yeah, like err, from the word itself, 'Y means the nectar and /\F [ZL, EEBEID, SVIIE, [NNFIEE, TTHLEEFLZIYN

means the bee. So honeybee maybe?

FTLEIM,




105

STIEITHBDITTT &R, 25T 5L, SA?ERIFESNTRTS
#HRL, HREDIDELEB->TEDIFETE,

So here, he is err, asking err, the audience in a doubtful way so as we
think as humans, we realize and we understand the world as it is, like,
according to what we see as the world.

Z—CCTRIE, A—, BRICEROICHAVTOET, , AREL
TEZBIC, Bcbld, BATOAHRELTRIZCECRLLT, #
REZDLDTHHERHL, BRELTWS, &

106|ELALT=5, R DHIEBPE L DEEIZL>THREM, AEYIZR X [Here, err, he is asking if err, whether the world that we see is CCTIE, 2—, WIEF=ENRTOAHFEVNSIDIEFAFEDWRRI
=Y, EHESRZYLTALSEND ? A1V, according to the situation, or he uses he used a word called £—%">, | &2HLDLEDONEMSTNET . HALIE, FiX, 2—, =4 1&
err, I think it's 2—%">, I don’t know its meaning, but he use, he is err, | SEEZEVVEL Iz, -RAT =4 U 1EZEBWVETH, CORBKED
doubtfully, asking whether like what we see as the world is according |MYEB A, T, WITZ—, EEMICFA-EAHFELTRTLS
to the situation that we encounter in our lives? Or according to the (LD IZFAF=EAANETHEBT DRIRITLDELDTRAEVAERSTLY
t—%4" that he mentioned here. B2 FFWEHAITERLTVA—F U I2&DE0,
107 EARMICHRANESRZTLAELIDE, LEFEITHEELEL
108| Yeah he, um, I'm not sure whether it's example or not, but he said [ELy, I, 5—A, ShhBlEOhbhYEREAD, HIFKRIZE
according to the situation, or the according to the events that we Y, FEF A ANETEET HHRBICLDEE>TLET,
encounter in our lives.
109[BELALTEFET &M, T, CIISTT A, FEAD, HDT=EZIE,  [So, he is referring to an alien, err, where, err, if err, he assumes like A—, BEFHEANCERLTWT, 2—, EC, 2—, 3L, #KIF
Z—, REBADP->TERYT S, he's err, he err, he is assuming if an alien from space comes here? Z— lE Z—, WIFHANFEASCCISRAEEEE, 8%
LTLASDTLEID .
110 FHAEVWSHEERFENCENBYELD,
111 Yeah I, I, I knew it, I knew the word. [F, FoTLWVEL =, ZOEFEFH>TLVELS =,
112 FENBRTHOTLRIREESVSBHRADAYET A,
113 Yeah he's err, drawing an alien? W, ®IEZ—, FEAZHEOTOETR?
14| bsoEENEZTEN D, Oh, he is smiling and he drew a picture of an alien and at last he says |#—, IEE->TL\T, FHADBEHEELz. REICHEETELAL
maybe he maybe that particular alien might have hair too so he has T, COBEDFHANTELMLTELEZTLSENELALNES
drawn three hairs on top. W, EISB3RDEEHEEL .
15| THIERIZPO TR E, S—HIKIE, HD, BLLRENSTLV353IZ [So he says err, if that particular alien comes to #1Ek means the Earth, [z —, RIZC OB EDFEANELMER [R5, HBERIELSD
3. err, he might think that particular alien might think that the Earthis  |[3Earth®BRTTAS, CORENFEHAFHRERLVEBS AL
pathetic. Pathetic. nizn, EEVELE,
116 HLWELWSEEIE, EEDEKEDOENLHBAILIATTH,
17 Err, no, BLL) I, I have heard the word and I sometimes, I might know [Z—, 5&LVET, TBLLV], COSFEEFL, RIFELV=IEAHY, &F

the meaning like as pathetic I can remember it as pathetic, so, err, his
gestures or the sound of the word he used, it was not the thing which I
understood the context so I already knew the word.

£ BRALDSERALAENE, RABEVNSEELTEZTL
BOTEA, 2—, WOHIRY LBEAESF-E XD F I KAREE
RLICETIIES, ZNEEET TITH>TOEL




118

FEAZEDEENLHEBILI-DOTEANENSIETT A,

119

Uhh, not actually but err, to understand it like that, somewhere in my
mind, I, I might think like err, talks like this have some idea like, if err,
alien comes to you, like from our childhood like, if an alien comes to
the Earth that alien might think different about err, so, maybe that idea
was there in my mind and I interpreted it like that.

H— RIEBVES, TH A—FDLSITHBET LD, DL
BIEAENSD, LLHBI-DECHIZFEHAAE L, LLFHAMN

HIKITKZD, FEHAGESILSISEZZOTIEALMENSFHOS
ANBDEZNDDECMHoMELNER A, TTHD, 1254
ZDESBEZNRDODIH T, ZOLSITERLEZOAELAEE

o

120

C0, FHILALELIDFHAL, BAMREFIMRABEL TR
BEML,

Sometimes, this alien could see the mmm, >}/ > and I'm sorry I
forgot I, I couldn’t take the last uh, next word, there, there were two on
the top and the least one err, that alien might see the two extremes as
colors.

LEEE COFHANSL AtV 1ERHENTES, ZLT, §H4
FtA, BAFEL RED, H, ROFESHMEMALN /=D TY
A, 205->T, —EBLLE—FT, A— COFHAFZD2ODMEE
BLELTRZZOMNILNERA,

121

ERFELELES FHEIVICERFFARELHLLDT,

So he, he says that it is i ible uh, it is not il ible for the alien

to see it like that.

Z—1®, WEETNEIFREATRE, LA, FHAICESTEDLICRSIE
[FFRFTHETRELY, EEOTVVET

122

F, KEADVS O TIEBRDEIATARETT FES,

He is um, using a word called 7tz— A, I don't know the word, err
about that, 17— A H3L\5 err, means maybe there could, there might
be a Ht—A?

WL, S—A, Tht—AIEVWSEREFENELEA, COSEEHNVE
Bho Z—, COTEICDNTTTH, Tht—AMBIZ—, BRI
BZK, THE—AIDVBEHELNAENENSTETLESD .

123 OOBENENSTETTH, KEANEALBLDINEERTEET D,
124 Mmm, 32—\ is maybe something similar to aliens? I'm not sure. S—h, Tht—ANIF=SAFEANBIZITATLEIA £<hHh
Yeah. YFEEA, [FLY
125 ZHEBEMNSTIEAEL, XRMSHERILTMIZATT A,
126 Uhh, yeah, it it was a board, it was from the board, from the context  |&%—, [EL\, FNIEHR—K, R—KMDTT . XM SIEZ—, FHA
err, so we are going, we are talking about aliens, so outsiders, and 71 |[ZDWWTEELTLVT, KEFHEWSITETTM, MHE—AIEEFDL,
tz— A maybe A is a person, 71, 77 maybe outside? #— means TAIEA, TH, DllE=RA50 2 Te—)d = SAER ? SAOHRD
maybe world? Outside world person? So, I, I, I think, I thought it like [ A ? TYH5, Fh, Fh, FAEZDKSISEZFELI= £ZE?
that. Outsider?
1271|FH, HOKBALHD, RAHE KEANTTR, IREEZS. £ [So, he wrote err, some kanji, which err, you know what's for, 1t=— Z—, BIELONBFEBEELS, [hE— A IERLTLDDTLE

39HETTHR, FTTHMBICSKETES LI,

A ? So, for iz— A, it is err, possible to see the to see both the
extremes.

SMe Z—Tht— A1, ChIFEEEZRDEMNTARETHDENIET
L&5h.

128

RIROFZERT, RAOHEREEDYELIA,

129

Err, it, it, it has changed because I, I, I'm really not good in kanji but I
thought that 71 means err, 4}, the out, outside, but here it's fire, and 3
F, err, kanji? And 2— A is ok but the first two kanji is different from
which what I thought.

Z—, EDYELE, BEAEVSE, BFEHFYBETIIZLOT
I, THIEZA—, Thh), SREWSERIZEBNELIA, CSTIEKT
T ZLTISFIZ—, OBF? ZLTM— AIFARLXTLED, &
MD2ODEFAEZ TN LDEENVELT,

BABLEFOTE 1ZTE I EFHH
BAADEBDID,

130

TLFHAO—BEEVSHAZEDYEE AL,




131 Um, no, aliens, the idea of the alien kind is also changed here, because, |5—A, LNZ, FEHA, FEAD—FELENSIEZZLICTEDYEL
he some err, he talked about the colors, err the two extremes in T BEMWSE, FKF, Z—, &, BOEEDFEEZLTLNT, A—HKAH
colors, so I'm not pretty sure about err, whether he is talking about an &Z#&, Z—BIDEHEDOFEADEZLZLTLSDNEI N F LD
outsider like err, another type of alien or not. YEEA,

132| & IEEIIRTHIBLLLTLLIN RN E—EN DT, ZNIEESLVSIT [So he's err, talking about this 1tZ—.A again, and here he's err telling | Z—fRIEZDIHE—AINTDOVWTHEUVELTLVET, ZLTHIEID

EMDTESE, EARBBIF7oTHYET &4, SSRIISILDE
Fo—EBKPD, HNILIREVDERIEL TEOITTT &2,

that if this 7 Z—"> sees IR, err, he might think that it's ¥,¥ 73—,
< J¥— means err, it's difficult and err, pathetic? Err, so he’s referring|
to he is giving an example about this, err, automated doors, so in this
automated doors, err, there's always being err, radiation emitted out of
it.

[HE— AN INRBRZZDMELTVET, BIEZLIETTITS—1h
HLABWERO>TVET XTI —1ELNSDFHLLY, EnBHIEE
WIERTLEID . 2—, SOTECDNTHERFTNT, COETH
K7 CZOBEBR7FRHLTOT, BITZLAEELTLSENS
CHZERLTUOET.

133| ENTABMNZTEFNEEDAT, ThERFLTHLS So err, he probably explains about the example that he said about the |Z—, Z—, &IZHIZDLVTEHBALTLNT, BEIR7ICDLVTEELTLY
automated doors err, in which uses infrared err, radiation, so when a | F9, FRIMREETNT, MEHRTI M, 2—, F7DHEIISIIKE, £
person goes in front of the door, it, the rays detects the hu, human and| D F4R A, ARIEREILT, FhIZHE>TOH, BEIRT7H B,
then only the automated door opens. o
134| H R FIR, DEYFRIMRDBELTRAL AT, Err, for us, as humans, we cannot see IR, err, k5%, he used the Z—, B ARISESTIE, RIFRZZENTET, 2—, TFRIMR,
word FR&H err, I don't know the meaning of that err, I, I mean I don't &I FMRIEVSEEEENELID, BrRIEDAVERA, Z—,
know how [ interpret that in English errr, wait, I forgot err, yeah, for ELVSDIFEETESBRITNELNADALENENSTETT,
humans, we can't see IR. A—Fo TS, BhEL, 2— H—, £5TT, AR
TBRIRERBENTEEE A
135 FIMEDNDOMSRNENSITETLIA, EWN-WEABEERNEBZT
EFETH.
136 Err, yeah like we were talking about so many things but I, I think it's Z—, [FL, ETHASADTEEZELTOET A, TOHFDIDDIE
one of them err, it's something like err, radiation? Yeah. FERBVET BEHRODKSBRITH, TLEIH, [EL,
137|2RELGBBATELENTTHE, ThBELTRATAHA, 54, B [Um, so humans, we don't see it so it's not difficult or err, it, it doesn't [Z—, AR, RATEATELLDTHLIAL, ELVSAARIZES
Loy, matter for humans but if, if err, there's a person or if there's a thing [ TIERBETIEHELNTT N, L, 2— ThERZBAMNVE, Fiz
which can see that, it will be difficult for them. [EMEDFELI=D, WoITE>TIFZRIEHLNIETLES,
138|435, HOE LB D, BEIL /U ENGADRETTT 13, T3, EF [So he is referring to the old days, & means err, past? Err, soin fi, uh, [A—EHDHRITERLTVFET . [EIELSDFBE? 2—, 1),
MNHO>TTI R, ZIIZIS, B —DE—2LG>TEAELSYS [films, err, referring to a £ % means gem and to protect the gem, they |3, BREIDH®D, Z—TER/ICERLTLETH, TROEKTT,
7383, SSBEL>TLSIDOLHYFELTE, may be some radiations uh, and to steal that, to take that hmm, gem, |EBZF2=8I(, BEHRAHOT, ThEERLIOIZIE, &S0
errrrr, the person who is trying to steal is uh, steal it is avoiding the IZIE, 5—A, BESETEHAL, &, KRERITT, TREEYET,
rays and taking out the gem.
139 FERERESRITHBERNHYET D,
140) Yeah, yeah, he is talking about a film that he has watched and in that [[&L), IEEARFBREICOVTELTWET , ZLTZDBREDF
film only, there, there, there's the gem and somebody is trying to steal |1ZIFIZHELNT, 22, ZCICEXERAHY, HEMNEFNEEZESELE,
it and there he used, he refers to the rays which was used to protect |&, IZZITHELY, EXLELz, ERETFIHICHEHI DAL
the gem. =
141 FIMRENRNBRDRZINIEZNAAREICAE S DT TT TN ED, F(So he's eh, he says that if you could say err, see the two extremes, (2 —, WITE>TLVET, EIFEDER DA b3 &, LLEEAR
HELIERZL, EHE, err, it was possible to like referring to the previous example about the |Z7=5, ERZEHELIXEST, LHL, X HIFRZLL, &
gem, it was possible to take out the gem easily but err, we can't see it.
142| 20, KEANICRFRZDE, THERKLLY, So he says that for itz— A, it is possible to see the, see it . A, a, and [X—, [HtE—AIIZELTIF, EhERD, RACEMNTEHEEH>TLY
itis Y72 — means it may be difficult to see it. 9. %L, L, ELTEAERITTO—], DEYRBZIEMABLLA
BHLABWELSEBIRTY
143[Zh s, EATHRENIESIDELNALY, HERAELLVDIEHD |So, he, he, he's telling the audience eh, that he might say something [z —, #, &, KIXEER TNFT, 2— WEIHDIEATE

UVBEIFAS,

not good LA THALIT &, means it is not suitable or not good to say
but I'm gonna say it.

3, £ TEATHRENTEIZESDH
Filig), k<HOEVSERTTA, TERECNASEVET, &




144] E30RFEATE A,
145 Eh, yeah the professor is going to say to the audience. He a, also said |Z—[ZL), ZBMBERICChALELNET, MIFZ5HELVEL .

err, that 15k eh, #iEk means the Earth, is beautiful? THhEk ), T3k | [FHERDBBRTT A, M3 IFELLY, &
146| FHT1BEFCAOUVEEITA, HDFTTNHIRITEh VLA, &b, [6F)RAEES . 19 BET is the, the sun rising down, and the rays or the |[6F)RIEE . 1T & BT IEKRBA R TR IE, ZLTHER, ELVSH

brightness from the sun is £ 3 < means extremely beautiful?

RENLDRAZSMNTEDTIUIEETH, EWSBEHRTT A, Thht
2OFICELL?

147

o [FH? BV, £, UVBEF S TRHAL, EoHDRDEITZAN
[ESUVRDS, A =LEOHRINELrA, ENWENTSE
NEFSAISFRTED

He is talking about UVA?/7, maybe err, 7% means U, UV means u,
ultraviolet, the rays err, the, mmm, the vision or the scenery of UV
rays is err, very much visible and I couldn't err, listen the other latter
part, I could only err, like listen to the 4 BE(7 part yeah.

WIETUVY 7 JIZDVWTELTWET . =54, 2—, [V 7 I1DOEK
[&, UWVIEDILES LA LY DER, KR, Z—5—A, BREVLSH
UVEBRDRED, 2— ETHLECRAT, EHD, HFHAHMREE
h;{ﬁ;f:(f)’ﬁ?‘ﬁf, A—, MERMNDRTF BT 1EWSER
TY, [FLy,

148 UVBEHFIZDOWTELTW DR EATT A,
149 Yeah, he was talk, err, like talking about somebody else which was the, |[ZL), B IZFZHMABS NIZDNTELTWET . BELCHITERLT

maybe the 12— A, that he referred to in the past? W=lhE—AITLESD,
150([&d ? A1=U ViR, thERICHE DI Y 1T TS, Err, he also used err, another onomatopoeia, &3 ? means like WIXBI DA/ TEART(EEH ? IBENVELT, [[EH ? IEVSDIEFRES

confused and err, he says that #hEk, #1Ek means Earth, Earth only has
the sun rising down scenery.

TWBEWNSEIBERTT A, MR (LHBROBIRT, HERITKIS
BNRYRTERLHGVERITEVELS,

151 13 ? EE2T=DIFEZNTT A
152 Err, according to what I understood, is like it may be from professor [z —, AN EAELI=ECAICENIE, BZBHKIR, ZLTIRTOA

and all the humans? ITL&SH,
153|BABE T B FEICH BT E FBFLAELT, TRIEEDALU DT, |Erm, there's the 744/, err, I really don't know the meaning, but I Z—T7HYrInBYET, 2— BRHAASI[TOMAVEEAN, B

HF=UVEE,

assume it as the sun rising? And of course, there is err, the other one,
as sun err, going down, err, so that is the only two things in the Earth.

MHEBENSITETLLIM, ZLTELSA, £I1D201DBHYFET .
giU‘ RIEA, 2—, L, A—, TEAD, #ERITITZD2DEFAH
2, &o

154

ZTDEEFHERRITHBICONTE>TLELE=M,

155

Yeah, yeah he used the color orange.

F0, B0, WEALDENSBEMELVELL,




1

@

6

EANKEANIZESE, KEAEL, &, hDLESI, HERAIZEHD
ELLUVEETARZ LD,

So he is referring to err, the 1z— A, and humans, so he’s err, like
assuming like we have a conversation with err, the 7tz— A, and if err,
we say like, he says that the 1tz— A might be pathetic, uh,
sympathizing us or feeling sorry for us err, thinking that err, knowing
that we can't see the UV7/ 2 Err, the which it can see but as for
human naked eye we can, we cannot see. So, the 7tz— A is uh,
feeling sorry for humans.

Z—, BETHhE—ANZERLTWES . ZLTHEIE, AR, 2—, #&
AEVSH, BT hE— N IEREFEETHENSEERELTLE
. ZLT, L, A—FhfcbMEofzb, [UVY ), 2FY, 2—, K5
FRONBITAELARMORBTERONAZNLD, ZF-EHARS
NGWERSTD, Z—, ThE— NI ELEESH, L Z, [ A
DHVESEEBIHILLALL, ERIEETVES ., TIHDL, H
t—AlEZ— ARICREELTLES .

157

FEFCORKEAEDRFETHITES VN ELERBWNET D,

158

Err, yeah, so from the beginning we were talking about the colors so
for humans, it is not the exact color or exact err, maximum that we
can see err, but for aliens, and the so called 7tz— A, might see more
than humans. So he was talking related to colors and its, its and its
extremes?

Z—, [FL\. BEMD, FFBFBOFEELTVET . 2—, ARITES
TlF, ZhRIERLZETREL, EWSHFEMNRLNS ERTIE

B Z—, LOALFEA, ZLTIAE—AIEFRENDL0(SIE AR

FYBEOERATVSNLLNEE A, T D LRSI RICEET S

& ELTEOMBOIEEELTVES




